

$$f(x) = \begin{cases} \frac{\sqrt{4x^r + (m+r)x + \frac{m}{r}}}{|2x^r + (m+5)x^r + a^r|} & x \neq a \\ \frac{r \tanh \frac{1}{\sqrt{-a}}}{\sqrt{-a}} & x = a \end{cases}$$

$$(m+r)^r - 2a^r + \frac{m}{r} = m^r + 4 + 4m + \frac{m}{r} = m^r + 4 + 4m = (m+r)^r \geq 0$$

$$m = r$$

$$2x^r + a^r = 0 \rightarrow 2a^r + a^r = 0 \rightarrow a^r(2+1) = 0$$

$$\lim_{x \rightarrow -\frac{1}{r}} f(x) = f(-\frac{1}{r}) \rightarrow \lim_{x \rightarrow -\frac{1}{r}} \frac{\sqrt{4x^r + (m+r)x + \frac{m}{r}}}{|2x^r + (m+5)x^r + a^r|} = \sqrt{\frac{r}{r}} \lim_{x \rightarrow -\frac{1}{r}} \frac{1}{|2x^r + (m+5)x^r + a^r|}$$

$$f(-\frac{1}{r}) = \sqrt{\frac{r}{r}} \tanh b \rightarrow \tanh b = \sqrt{\frac{r}{r}}$$

$$f(x) = x^r + a^r x + b$$

$$f(x) = x^r + a^r x + b$$

$$f(x) = \frac{x^r + ax + b}{x-1}$$

$$x^r + a_m x + b \xrightarrow{1=x} 1 + a + b = 0 \rightarrow a + b = -1$$

$$\omega x^r - a_n + b \xrightarrow{n=1} \omega - a + b = 0 \rightarrow a - b = \omega$$

$$\left[\frac{b - \tau a}{\gamma} \right] = \left[\frac{-v}{\gamma} \right] = -v$$

$a = 1$ (یوستگی) : $\lim_{n \rightarrow 1^+} \frac{\ln x + n - 1}{a(1-x)} = \lim_{x \rightarrow 1^+} \frac{(n+x)(n-1)}{a(1-x)} \Rightarrow -1, \frac{r}{-a} \rightarrow \underline{a=r}$

$$f(x) = \frac{a[x+1] + b[x+[a+1]]}{a([x]+1) + b([x]+[a]+1)} = \frac{a[a]}{f(a)} = \frac{a[a]}{b[a]} = \frac{a}{b} \Rightarrow -1$$

$$f(x) = a[x] + a + b[x] + b[a] + b$$

$$x \rightarrow 0^+ : a[0^+] + a + b[0^+] + b[a] + b > a + b[a] + b$$

$$x \rightarrow 0^-: a[0^-] + a + b[0^-] + b[a] + b = \cancel{-a} + \cancel{a} - \cancel{b} + b[a] + \cancel{b}$$

$$a + b[a] + b, b[a] \Rightarrow \boxed{a-b}$$

توابعی در نقاط صریح بیست و نهمین شماره این $b = 0$

$$f(a) = -ra \Rightarrow \frac{a}{f(b)} = \frac{a}{-ra} = \boxed{\frac{-1}{r}}$$

$$f(x) = \begin{cases} \frac{x^r + mx + n}{a - x} & x \neq a \\ r & x = a \end{cases} \quad f(x_a) = 0 \quad \begin{matrix} \text{ضابطه اولی (مخرج صفر، صورت غیر صفر) (0/نفرستاده)} \\ \text{از طرفی } x_a \text{ ریشه صورت ضابطه اول است} \end{matrix}$$

$$n - m = ? \quad x^r + mx + n = (x - x_a)(n - a) = 0$$

$$f(a) = \lim_{x \rightarrow a} f(x) \rightarrow r, \lim_{x \rightarrow a} \frac{x^r + mx + n}{a - x} \rightarrow r, \lim_{x \rightarrow a} \frac{(x - a)(n - a)}{-(x - a)} = a$$

$$\boxed{n - m = |a|} \quad x^r + mx + n = (n - r)(n - a) \quad a = r$$

$$f(x) = \begin{cases} (1-a)[x] + (ra^r - 1)[-x] & x \neq 2 \\ b \sin\left(\frac{\pi}{a}\right) & x \in \mathbb{Z} \end{cases}$$

$$\lim_{x \rightarrow 2^+} f(x) = (1-a)2 + (ra^r - 1)(-2 - 1)$$

$$\lim_{x \rightarrow 2^-} f(x) = (1-a)(2 - 1) + (ra^r - 1)(-2)$$

$$ra^r + a - r = 0 \quad \begin{cases} a = -1 \\ a = \frac{r}{r} \end{cases} \Rightarrow b \sin\left(\frac{\pi}{\frac{r}{r}}\right) = b \cdot \frac{1}{r}$$

$$\Rightarrow \lim_{x \rightarrow 2^+} f(x) = \lim_{x \rightarrow 2^-} f(x)$$

$$f(x) = \begin{cases} \frac{|x^r + mx - m - 1|}{m|x^r - 1| + |m - 1|} & x \neq 1 \\ \frac{m}{m + r} & x = 1 \end{cases}$$

$$\lim_{x \rightarrow 1} f(x) = \lim_{x \rightarrow 1^+} f(x) = \lim_{x \rightarrow 1^-} f(x)$$

$$\lim_{x \rightarrow 1^+} f(x) = \frac{|x^r + mx - m - 1|}{m|x^r - 1| + |m - 1|} = \frac{r + m}{r + m + 1}$$

$$\lim_{x \rightarrow 1^-} f(x) = \frac{m}{m + r} = \frac{r + m}{r + m + 1}$$

$$\sqrt{x} |ax + a|$$

$$|x^r + (m - r)x + a^r|$$

$$\sqrt{x} | -x - 1 |$$

$$|x^r + 1|$$

$$a^r + (m - r)a + a^r \rightarrow a(a^r + a + m - r) = 0$$

$$a(a + 1) \leftarrow a(a) + a = 0$$

$$a^r + a + m - r \rightarrow x - x + m - r$$

$$\lim_{x \rightarrow -1} f(x) = \lim_{x \rightarrow -1} \frac{\sqrt{x} | -x - 1 |}{|x^r + 1|} = \lim_{x \rightarrow -1} \frac{\sqrt{x} | -x - 1 |}{x^r + 1}$$

$$\text{Hop} \rightarrow \lim_{x \rightarrow -1} \frac{-\sqrt{x}}{x^r} = \frac{-\sqrt{-1}}{-1}$$

$$f(x) = \begin{cases} \frac{x^r + |a|}{x^r + a|x|} & x \neq 0 \\ \frac{ra - 1}{ra + r} & x = 0 \end{cases}$$

$$\lim_{x \rightarrow 0^+} f(x) = \lim_{x \rightarrow 0^+} \frac{x^r + a}{x^r + a|x|} \xrightarrow{\text{Hop}} \lim_{x \rightarrow 0^+} \frac{ra + 1}{ra + a} = \frac{1}{a}$$

$$\lim_{x \rightarrow 0^-} f(x) = \lim_{x \rightarrow 0^-} \frac{x^r - a}{x^r - a|x|} \xrightarrow{\text{Hop}} \lim_{x \rightarrow 0^-} \frac{ra - 1}{ra - a} = \frac{1}{a}$$

$$f(a) = \frac{ra - 1}{ra + 1} = \frac{1}{a} \rightarrow ra^r - a = ra + r \rightarrow ra^r - ra - r = 0 \rightarrow a = -\frac{1}{r} \text{ or}$$

$$\lim_{x \rightarrow \frac{1}{a}} f(x) = \sqrt{a^r} \cdot 0$$

$$a = -\frac{1}{r}$$